GPTZ%I

BARENZIEESE

ik

ERFHRCPTRIIENZERZRA T EEEFREANESHES
FASEREBEE  (ASIC), HECE TN B UEZR FIAGPTA
PP @B ST 2 ERE, BIETT°CESC CEEAH TRE M,
A ak IS

o BIRER (TEB) (£2.0%FSS): EMENEECENR, R2MHE.
A EEEX MR R EIARHESLNEMEE; 1RE/)\ B~ m
FIRBASNESEITIEMNAE, (WE1L)

1. BIREHMEEEX

- BASBEANL5RE EedBERS TRIFBANEE
25, MRIRETE TIAREER,

o TRENEBHERAM BT BEITTR NELTLBIES RFE
EREBRIGEMIT) ATS T,

EFNE

- BRCERERNBES, AZER (IED.

s BRFRaEXN RESMASEKES, TP I RENBERRE
MYE AR E 8 O EAEERD EIEEM A Y P E,

- MAREMTHENAENR, BiEs85H8HE. L4558 EN
AR,

e

. TENHRE

« [E£735BE:40Bar-600Bar

o B :4-20mA, BE (thBIsiRE)

. EERENEEME

o BIRET: E2.0%FSS(0°C-80 CRESEER)

o #B25ERE:>100 MQ, 500 Vdc

. 4558250 Vdc, 198k
EBHFRAM (EMC): BT KF

o ISR SIAIP6T

o PBRZAYIE): <2 ms TYP (B4 Hheeny)

« ROHS.REACH #0 CE JAJIE

BIERE

o TAl:HER

o ZBTH RN, RN
mek

ERF/RCGPTRIIENTEESPX2RTILPX3RFIMLHAFIF]
SPTRFFmHtRAM T TENEHEN LR~ M.

13



GPT &5

N N N u
WmAEITIXEE
xR 1. BEEHK
% {F
el L AW ] AA
%] 10%-90% Vs
HEBER[E (Vs) 4.75-5.25Vdc
I EEEM R EEE +16Vdc

2 ¥
BC BE BF CH
1-6Vdc 0.5-4.5Vdc 0-10vdc 4-20mA
8-32Vdc 8-32Vdc 12-32Vdc 8-32Vdc
+36\Vdc +36Vdc +36\Vdc +36\Vdc

= 2. MEEES8 (BT 25° C #14, RIESHHEA)

FHIE
TERESEE
e RESEE
MEBESEE
BE
BigEW?

o) iz B 1
FrHLATIE ®
EMC fiE &
BHERIRE
syt
TR IR B 2 o %
TURR
MfESsh

i Ch)

RS I
E:abo sl
B5oRE

TaE e
70

3

-40°C - 85°C

-40 °C - 125°C

0°C - 80°C

+0.5%FSS

+2%FSS (0°C-80° C BEEERA)

<2ms (10% - 90% EHMEREN) , FHEhes

<7 ms

4KV EZMRE, T8KV=SME, fFA IEC61000-4-2 frkE
10 V/m (80 - 1000 MHz), #F& IEC 61000-4-3 17t

+1kV, fF& IEC61000-4-4 #E

*£1kV, fF& IEC61000-4-5 1Tk

3V, fF& IEC 61000-4-6 #r/f

40 dB (30 - 230 MHz) #1 47 dB (230 - 1000 MHz), %4 CISPR 11:2009, A1:2010
PrifE

>100V/m (200 - 2500 MHz), & 1SO 11452-2 #5/k

>100 Mohm, 500 Vdc

250Vac, 145§

BERE: &=/0\2KQ; Bkt &K (Vs-8)*50Q

1,000 B RIESTER (0-90%FS)




GPT &5

EN DA RSES

G

W& 25° C[77° F] WEBNE/SEENFHNEES REMESEL (BFSL) ZENRARE. SIEENIFLEE. E/RH

EAFTEEMERNFAEIRE, FNE 1.

PRIRER: AEMMIEENENTEENNEESBEEERHRZENEARE. BEHASARE. RER. EHIERME.

E7RE. ENAIEEN. T
S FEALBTIE): MRS ERIRE BRI A A 2 ERBY [El ERR.

58Em

sn/L/ZRN

BT IRMECSOERT 4- 20 mA BIREIR.

&R 3. EHEEEX

BIEER. MERHMNESEHFRAIRE. FILE L

BERERE

x4 EHTEE

MPa Bar
BEEN BE RHED BEEN BE RHED
<= 3XFS 5XFS <=60 3XFS 5XFS
7 2.5XFS 5XFS 70 2.5XFS 5XFS
10 L7XFS 3.5XFS 100 L7XFS 3.5XFS
<=25 3XFS 5XFS <=250 3XFS 5XFS
35 62.5 125 350 625 1250
40 2.5XFS 5XFS 400 2.5XFS 5XFS
50 2.5XFS 5XFS 500 2.5XFS 5XFS
60 2.5XFS 5XFS 600 2.5XFS 5XFS
&= 5. MRS
FHIE S
K il 20 G $357, 10 Hz - 2000 Hz
P 100G, & MILSTD-202G, Method 2138, Cond.C X
2R 0 %6RH - 95 %RH, 3E/4 %k
BERAEL $SECFIBEA . 17-4PH; $E: NBR 3 BunaN
sheR 304 B
B PBT 30% GF




GPT &5
B RE N LiseR

R MNFITiER

a% Bt

Rl SRR RO ERN  RAXE EOUE EAXE  Eh SIWEX
GPT X XX X G XXXX X XX X

BRAENZES SIMIENX

one character letternumber
= for pinout definition

<

A = Packard Metripak 150
B = Micro M12 IEC 61076-2
J=Din EN 175301-803A
K =HV040 SUMITOMO
ELECTRIC BRI
L =AMP Superseal 1.5 AA = Ratiometric 5.0 V 10% to
M = Deutsch DT04-3P 90% VS
N = Deutsch DT04-4P BC = Regulated 1 Vdc to 6 Vdc
BE = Regulated 0.5 Vdc to 4.5
4 2R Vdc

BESS BF = Regulated 0 Vdc to 10 Vdc
N1=NPT1/4-18 CH = Current 4 to 20 mA
N2 =NPT 1/8 - 27
N3=NPT1/2-14
S1=9/16-18UNF SAE J1926-3

S2 =7/16-20 UNF SAE J1926-3 EnEg
M1=M12 X 1.5 SO 6149-3 S=BHEE
M2 =M10X 1 1SO 6149-3 G=%E
M3 =M14 X 1.5 ISO 9974-2
G1=G1/41S0 1179-3
G3=G61/41S0 1179-2

G4 =G3/81S0 1179-2 EHEE

G5=G3/81S01179-3
G6 =G3/8 JIS B2351
G7=G1/4 JIS B2351
P1=PT1/41SO 7/1
P2=PT1/81SO 7/1

040B = 40bar ; 004G = 4MPa

050B = 50bar ; 005G = 5MPa

060B =60bar ; 006G = 6MPa

100B = 100bar; 010G = 10MPa
160B = 160bar ; 016G = 16MPa
200B =200bar ; 020G = 20MPa
250B = 250bar ; 025G = 25MPa
350B =350bar ; 035G = 35MPa
T 400B =400bar ; 040G =40MPa
Y= HEmEE 500B = 500bar ; 050G = 50MPa
N = RHEE S 600B = 600bar ; 060G = 60MPa

G = RRARKR

A

"INEBHEMESEE. EARE. ENEO. BRELEEHBEE, BENERFREERR.
' ABEARNRARSBERRILEE, NMEmETHER.

16



GPT &5
18R E L iERR

—— T T

|
]

3000

:ﬁ ||_|III' '\K'

—

D00COCK00L
RangeD0C00 K

ETAEEZES[ETNLZERT ((X&F: mmlin])
(a3 =

(-
@215
[0.84
[0.37]

[————— (36.2) —————————=

[1.385)

("H")

A=Delphi Metri-Pack150 B=Micro M12 IEC 61076-2

Connector:DELPHI 12078088
Mating Connector:DELPHI Mating Connector:4 POS TYPE D
12110192 IP Rating:IP 67
IP Rating:IP65
PIN | Voltage Current | Voltage Voltage |PIN| Voltage Current Voltage Current Current Current
NO | Output Output Output Output | NO  Output Output Output Output Output Output
A GND RTN Vout Vs 1 Vs Vs Vs Vs Vs Vs
B Vs Vs GND GND 2 == == Vout NC = RTN
3 GND RTN GND RTN NC NC
C Vout NC Vs Vout
4 Vout NC - - RTN -
Standard Optionl | Option2 Standard Optionl Option2 Option3
1
¥
4
-?15_!5-
0.68T7) @11.5
[0.45]
"H:d0. 4
"HU:d5.9
[1.807] )
WpDO0000000! I o X
| imoaco0000:

17



GPT &5
18R E L iERR

L=AMP Superseal 1.5
Superseal 1.5

J=DIN EN 175301-803A

K-Sumitomo (HV040)

E/Ic;?il:]ec(tic()):f\rtg:isgelj\-ﬁs?gr?es Mating Connector: Mating Connector:
6189-%037 ’ DIN EN 175301-803A, 18mm AMP Superseal 1.5;
IP Rating: IP67 IP Rating: IP65 IP Rating: IP67
PIN Voltage Current PIN Voltage Current PIN Voltage Current
\[o] Output Output \[o) Output Output \[o] Output Output
A VS VS 1 VS VS 1 VS GND VS
B GND RTN 2 GND RTN 2 GND Vout RTN
3 Vout NC 3 Vout NC NC
C Vout NC
PE NC NC Standard Optionl Standard
la— 258 —a
[1.016]
12‘ 1 o | -
I [0.476] m ° m —
[T 1] S —
T#ﬁ” 15.5
1. . ey
(0,611 H"=50.9
[2.004]
[l "H'=35.4
OO000C [1.39]
Brge000000K 0
000000 O00COOCKX
el St Bage XXX XXX [ el
= Pelkmpticis
[ ee000CCOMXXXX R

18




GPT &5
18R E L iERR

M = Deutsch DT04-3P

N = Deutsch DT04-4P

BoE &S
%[ DT06-3S
B3PELR: IP6T

SRS | EBERE | Sl

[RE=SEE N
=[E DT06-4S
BHIPEL: IP6T

SRS | BERE | Seikad

A VS VS 1 GND RTN
B GND RTN 2 Vs Vs
3 NC NC
¢ Vout NC 4 Vout NC
Li:3 TR 3 TR
211
[0.832] | I:.:fo] I
53.4 i i 53.4
[2.104] [2.10a]

0000000

e CO00C0000C
IO Pt hmmperts.con

m[
O

(]

0000000
IRI0CO00000C D
EXCY Porthempatu.com

ETARBSELRENRERTE (VMESE: mm[&T])

§

m:
|

[0.28]

gi
i

RA00GOGOX
FangeDOCOC{KK

[ [(35.2) ———— =

[1.385]




ETFFRENDEOXRENZERTE ((RESEF: mm[%ET])

G3=G1/4 1SO 1179-2

ZEHE
TCECHE kAT . 1SO 1179-1
ZEFE ' 50 N m [38.9 ft Ib]

"P“=2L.3 1 @

[0.9173]

G5=G3/8 ISO 1179-3

B >3
PCEp#E kAR 1SO 1179-1
L L 50 N m [38.9 ft Ib]

G7=G1/4 JIS B2351

BEE: OBIR 23
TUEgszskAnfE: JIS B2351
LRI 50N m[38.9 ft Ib]

—

"P"=23.30
[0.9173]

s
¢fi

S1 = 9/16-18UNF SAE J1926-3

ZE4: ORI >3
PCAZHESLATE . SAE J1926-3
LRI 50N m[38.9 ft Ib]

080 o
[ =

1.Straight thread maximum torque is validated to 90Nm installation torque
2.Seals for port are included and assembled to the sensor

G4=G3/8 ISO 1179-2

FEHE
PCEgHE kAT A 1SO 1179-1
LEEE ' 50N m[38.9 ft Ib]

"P"=23.3 T
o171,

G6=G3/8 JISB2351

B>
TCEgfEskinAE: JISB 2351
L 1 50 N m [38.9 ft Ib]

"P“=2r1 5 T
[0.848] .,
b L%

M3=M14X1.5 ISO 9974-2

ZEMF: O BIIF >
ILECHESLATE: 1SO 9974-2
LA ' 50 N m [11.04 ft lb]

S$2=7/16-20 UNF SAE J1926-3

B O BIF >3
UCAZHESLARE . SAE J1926-3
LR 50N m[38.9 ft Ib]

—

"P"=21.80
[0.8583]

* 11
!

3.Seal for port order codes G3 M3 is NBR -30° C to 100° C, others are Buna N -30° C to 125° C

20



	2020_介质隔离型压力传感器

